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FIFTH SEMESTER B.TECH. (ENGINEERING) DEGREE
EXAMINATION, NOVEMBER 2013

I'T/CS 09 505—DIGITAL DATA COMMUNICATION

Time : Three Hours Maximum a | |
Part A .
Answer all questions.
Differentiate Synchronous and Asynchronous transmission.
What kind of arithmetic is used to add data items in checksum calculation ?

What are intra-LATA and inter-LATA services ?
Compare HDLC and PPP.

‘What do you mean by error control ?

Part B

Answer any four questions.

.

] * 3 o = . . - " a4 ;"._.‘_; . .__f.a* . -
aln apout trans 6) 0 e,
Py . AT ; et S SR e T S T S R i S 2 C
R B . e
s ,._..,.___-_-'_a':.f..-r“_;l_-.r': "J.;:'- !_'_;'__h-_. i . 4 ‘T'
- iscuss about the constellation diagram. -
L™ = -: e T -.:‘:' ; . ."'.I.: g e b A M o v _..._‘ . i
1 i ety T Tt e T % :
! ':-.I\-h _-lh i G .-_. '."'-II"". PR - . i e S LR [ . i L ol - g
[ -i' '\'-"'t_:;- - F _-._1 ] [ N O gt h i i =" L ® N B W T R =y AT il - -. - d .'-_.I.- o el .._=- .__'_ % : £ i 2 g iy

% P el ':,._-:I:_'*_ih-. I_ln-\. - . g '
o T oy PP e _ :
d ¥ $ L . b % , - _I‘ 2 - - ‘u-
: 5’.‘.!_ s X R
VP, L S
-, L o L T e ¥ e
- i E i 3 o o]
i 3 '_'.i...:!:_""."'-I:.-"'II = s e P el
. x e PO 'y )T ks
L . ' " -"- _ '| " : N @ 1] -1'-'. r"- 1 l- !_:-l- I .--.‘_'-.:.l '-"-r —P. 3 :-'. ':'_
L} 7T - 1118 2d1 IR a J_".. ] k - I-'-.'I i = T 5 Faa i
R At T e R AT NG e
a = s =t = i Ay o AF 7, —r-l“h":_ T _"r:_'- A Ly !
N - hll'ﬁ'_-_""i"' = 'F‘._'\-_“ y
o e e T -y
i =



